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o Source Destination Protocol Info A
1 fe80::a5cd:73el:ceb2:3aa fego::1 DNS Standard query ©x6828 A smtp.sina.com
2 feBe::1 fe80@::a5cd:73el:ceb2:3aa DNS Standard query response ©x6828 A smtp.sin..
3 192.168.1.31 202.108.6.242 TCP 51997 - 25 [SYN] Seq=© Win=64246 Len=@ MS..
4 202.108.6.242 192.168.1.31 TCP 25 » 51997 [SYN, ACK] Seq=0 Ack=1 Win=146..
5 192.168.1.31 202.108.6.242 TCP 51997 = 25 [ACK] Seq=1 Ack=1 Win=66304 Le..
6 202.108.6.242 192.168.1.31 SMTP S: 220 smtp-5-122.smtpsmail.fmail.xd.sina..
Frame 4: 66 bytes on wire (528 bits), 66 bytes captured (528 bits) on interface © ~
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Source Port: 25
Destination Port: 51997
[Stream index: 8]
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main() {

int a=1,b=0;

printf("%d,",b=a+b);

printf("%d",a=2*b); }

A0,0 B.1,0 C.3,2 D.1,2

4. y:inta=1,b=2,c=3;, YW = T bi 2ab - ~A

A.if(@a>b) c=a,a=b,b=c; B.if(a>b){c=a,a=b,b=c;}

C.if(a>b) c=a;a=b;b=c; D.if(a>b){c=a;a=b;b=c;}
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C. chara='aa’; D.chara=""
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main() {

char cl,c2;

C1="A'+'8" -'4'

c2='A'+'8" -'b;

printf("%c,%d \ n",c1,c2); }
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main() {

int s=0,a=1,n;

scanf("%d",&n);

do {s+=1;a=a-2;}

while(al=n);

printf("%d \n",s); }
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int main() {

inti,n[5] ={0};

for(i=1;i<4;i++){

n[il= i ;

printf("%d \n", ¢ );
1}

int a=3,b=5;
int max(int a,int b) {
int c;
£ ? a:b; return(c);
}
main() {
int a=10;
int max(int a,int b);
printf("%d", g );
}

3 & fun w a y str

void fun (char str[]) {
char m; int i, j;
for (i=0, j=strlen(str); i< ¥
{
m = str]i];
strli] = str|j -1];
strj -1]=m;}
printf("%s \n",str);
}

7 a Q - 5Ng " 15N¢

main() {

int a=1,b=7;

do{ b=b/2;a+=b;

} while (b>1);
printf("*  %d&n",a);

} 12
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2. ) T 123450< >

main() {
ints;
scanf("%d",&s);
while(s>0) {
switch(s) {
case 1:printf("%d,",s+5);
case 2:printf("%d,",s+4); break;
case 3:printf("%d,",s+3);
default:printf("%d,",s+1);break; }
scanf("%d",&s);
}
}
3. Y

main() {
charch[2][5]={ “ 6 9 378 2 K*d[2];
inti,j,s=0;
for(i=0;i<2;i++)

plil= chfi];
for (i=0;i<2;i++)

for(=0;p[ i]0]> "\0;j+=2)

s=10*s+p[ili] -* 0"

printf\adN%d) ;

}
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1.4

main() {
inti,j,k,n ,sum=0;
for(n=100;n<1000;n++){
I=n/100;
j=n/10 -i*10;
k=n%10;
if(n= =i*i*i+j*j*j+k*k *K )
{pri ntf(“floweris=%d \n",n) ;
sum=sum-+n;} }
printf("the number is =%d",sum); }
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2.4

#include<stdio.h>
#include<string.h>
int main(){
void sort(char *]);
inti;
char *p[10],str[10][10];
for(i=0;i<10;i++)

pli]=str[i];
print ( “stringgnu”t) 10
for(i=0;i<10;i++)

scaf( “ %s” , p[i]) ;
sort(p);
pri ntf(“thens%prted
for(i=0;i<10;i++)

pri ntnf’(,“p%si ] ) ;

void sort(char *s[])
{
inti,j;
char *tp;
for(i=0;i<9;i++)
for(j=0;j<9-i;j++)
if(stremp(*(s+j), *(s+j+1))>0)
{tp="(s+); *(sti)=*(s+j+1); *(stj+1)=tp
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